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Problems for minilesson

1. Mr. Smith has two kinds of fruit in his fruit basket.  
He has 8 apples and 5 bananas.   
How many pieces of fruit does he have in his fruit basket?
2. Mr. Smith has both apples and bananas in his fruit basket.  
He has 16 pieces of fruit altogether in the basket.  He has 8 apples.  
How many bananas does he have?      

Journal response question: 16 books are split into two piles.  There are 10 books in the first pile. 

How many books are in the second pile?

Show your thinking.
